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True Positive Rate
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O KE+#EE5MhHERTFEATFatLHhmkFCMUG 4t A 5t
(StatLib library), <& Harrison D.f#eRubinfeld D.L#1978 # ¢ % £
Hedonic prices and the demand for clean air ¥

B # 4T #4444 . https://archive.ics.uci.edu/ml/datasets/Housing

L HFAEF5 L L 1. CRIM: per capita crime rate by town
. ZN: proportion of residential land zoned for lots over 25,000 sq.ft.
. INDUS: proportion of non-retail business acres per town
. CHAS: Charles River dummy variable (= 1 if tract bounds river; 0 otherwise)
. NOX: nitric oxides concentration (parts per 10 million)
. RM: average number of rooms per dwelling
. AGE: proportion of owner-occupied units built prior to 1940
. DIS: weighted distances to five Boston employment centres
. RAD: index of accessibility to radial highways
10 TAX: full-value property-tax rate per $10,000
11. PTRATIO: pupil-teacher ratio by town
12. B: 1000(Bk - 0.63)*2 where Bk is the proportion of blacks by town
13. LSTAT: % lower status of the population
14. MEDV: Median value of owner-occupied homes in $1000's
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https://archive.ics.uci.edu/ml/datasets/Housing

Elastic Net/LASSORI2M 45 AE 750

file data = pd read csv( 8. hous:.ng data’, header=None .
# a = np.array([fleat(s) for s in str if s I= ""]) Ll ratio: 1.0
data = np.empty((len(file_data), 14)) RZ: 0.79803070365
for i, d in enumerate(file data.values):

d = map(float, filter(not empty, d[@].split(’

&4 0. 16681005372

2% ARE: 16, 8170747774

data[i] =d - &0 . . 5&i¢ﬁ%1ﬁ§ﬁinu
X, y = np.split(data, (13, ), axis=1) 5 5 : i i
data = sklearn.datasets.load boston()
X = np.array(data.data)
# y = np.array(data.target)
print u'BA4#: %d, fﬁf‘ﬁE"\ﬁﬁ: %d" % x.shape
print y.shape

x_train, x test, y train, y test = tr‘ain_test_split(:%
. . > 30
model = Pipeline([ I
('ss', Standardscaler()), 1
('poly’, PolynomialFeatures(degree=3, include bi.
('linear', ElasticMetcv(l1l ratio=[e.1, ©.3, ©.5,
fit intercept=False, max
1)
model.fit(x_train, y train.ravel())
linear = model.get params('linear’)['linear’]

— H%@E

| = e

print u'#£%. ', linear.alpha 0 i i ; i

. . i , i ) 0 20 40 60 80 100 12io 14io
print u'Ll ratio- ', linear.11 ratio_ HARS
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ERANEBZEENTFRARATL G i\mn%J o] viéii%

B $41936%, # X254 £ IKFisherst 4+ X “The use of
multiple measurements in taxonomic problems” ¥ {& A T ¢
(A 240k XimsgEAm%iA)

RHREEQHEING BILES], HFNE3AS0NH#

Ao HP—-NESREZSBELNT 260, @3

s £ R 46 M TT 4

B & FFisher#y & 24 # % £ 5 4 & N4 12355 4385 #
A), RBRPRAEA GRS E L 6K IE

T # 42 4 . http://archive.ics.uci.edu/ml/datasets/Iris
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http://archive.ics.uci.edu/ml/datasets/Iris

B AETR I

% 23 £ 215047, A ATLIANHE A
HNHEAASNRE, 23R

B HEKA ($£42cm)
¥ B L

- %T ﬁ/ﬁ;(:ﬁ{z y Cm) ¢, 49, 5.1, , U1, Iris—setosa
B jé;ﬁ% .&g\(fﬁ.ﬁ_ : Cm) 0.4, 3. 7,1.5,0.2, Iris—=setosa
e " ¢. 8, 3.4,1.6,0, 2, Iris—setosa
B iR A (£4: cm) 4.8,3.0,1.4,0.1, Iris—setosa
O £ 3 ‘3 . 4.3,3.0,1.1,0.1, Iris—setosa
é J(#‘ é) o8, 4. 0,1, 2,0, 2, Iris—setosa
L1 Iris Setosa 5, 7,4.4,1.5, 0.4, Iris—setosa
. - .4, 3.8,1.5, 0.4, Iris—setosa
L Iris Versicolour 0.1,35.5,1.4,0, 5, Iris—setosa
L1 Iris Virginica 5.7,3.81.7,0. 3 Iris-setosa
7.1,5.8,1.5,0,5, Iris—setosa
od,5.4,1. 7,0, 2, Iris—setosa
HEE RIS RS SRS 20/28 7.1,3.7,1.0, 0.4, Iris—setoza
4.0, 3. 6,1.0,0, 2, Iris—setosa
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4.0
HERIA S
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i
i
.. ir
def iris type(s): R
"Iris-vi
return it[s] 25

# B, FaZE0E ES5HE. FAFEFELiris_type £ E
data = np.loadtxt(path, dtype=float, delimiter=",",
converters={4: iris type}) 20
X, ¥ = np.split(data, (4,), axis=1)
print 'x = \n', x
print 'y = \n', y
# (Z(E A B FIFFIE
X = X[, 2] 4.0
1r = Pipeline([('sc’, Standardscaler()),
("clf', LogisticRegression()) ])
Ir.fit(x, y.ravel())

45 50 55 6.0 6.5 7.0 7.5

SFEELogisticEINEMR - FREKL

y_hat = lr.predict(x) 35
print u'METAE- %.2F%%" % (100*np.mean(y_hat == y.ravel())) i
# BHE Efui
!'l.:: T-:i 5??’_??6 wel u P [ S ¥ wrl a AT e N o EE A T s T ﬁ 30
25
BEMFT AL B WG 21/2¢
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: : == 1}, R?=0.883, L1 ratio=0.10

2, R®=0.990, L1 ratio=0.10

6l| == 3M, R’=0.990, L1 ratio=0.70
4y, R?=0.990, L1 ratio=1.00

4 = sk, R>=0.991, L1 ratio=0.90 """"""" """" iy

ol 6y, R®=0.991, L1 ratio=1.00 _____________ : |
. — 7Ry, R?=0.991, L1 ratio=1.00 ; ;

ol 70 |
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R XEILIER ST

prant model.aipha = \t', model.alpha_ :II:EFEZBQ’E% ‘ﬁﬁ{ﬂﬁ?& I‘EEIEI}Elﬁ#ﬁ

# print 'model.l1 ratio = \t', model.l1 1800
print 'model.coef_ = \n', model.coef_

print ‘model.predict(x) = \n', y hat = Tﬁbn[ﬂa 5 E E E E
print "Acture = \n', ¥ 1600 | —0 o T:'EE-'F{E Lx e
print 'RMSE:\t', np.sqrt(np.mean((y hat- : ! ; ; ; !

print 'R2:\t', model.score(x, y)
for theta, col in zip(model.coef [1:], c 1400

RMSE:  162. 964014931
R2: 0.626819207663

AtRFMESIEHE 128. 651347274
TiEZEEEITELLETE 60. 9563623169 1000
FEHiEEIEE 20. 864682258

EEFETIEE 12. 3436281315 800
PEMFLST/EEE 10.6957507793
EREEEERSIEE 26. 2299084155

hRIE A7 #E 74, 8997410393

Molk A B 141. 450826243

E PN 5. 9160254661 400
=PRI 20. 429059238

FEESE 0.37297432004 200
MR H 39.8048306311

HhERZREE 4. 24512982302 .
NTZEREE 44. 8238997681 0 50 100 150 200

1200

600

220 360 350
ERARTRA LS E T 25/28 &%=
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markdown masterwzh EET
. IJ A} % . hadoop-2.6.2-srciFRaSRiFEMNIN = EHfFlnative FalE—Frmxf | thiTE-ArmiERerSti=zs Hagrid

3, EARBRFEHNEFRNEC | BN ZIEARRE ? 2FEEITE? 55 EE, 3 REE

MEIS - 40 Al

maven @CrazyChao BE

N AT N e e& . yanglei
. bied 55 NI, 12 75
'z ) & - opentsdbZEt il 7 24 warning , STERE4 ? = g FHTTE
= 150 - 3 A = 5 MEIS - 49 R - 2016-05-17 18:53 -
e
-'f 5

opentsdb fish B 48 NEE, 0 RER

S hiveman
19 /NEJE, 1R

XXl HEHUE wayaya BIETIAE - 4 AXKE - 7 EE - 108 JlsE - 2016-05-17 18:26

B AT SRS TS 27/28 S


http://wenda.chinahadoop.cn/

HEERET R AR E TS 28/28 I 5 PR

ChinaHadoop.cn



